

SOME OSCILLATION THEOREMS FOR THIRD ORDER NON-LINEAR DIFFERENTIAL EQUATIONS

By

Y. P. SINGH

(Received October 4, 1969)

1. This paper is a study of the oscillation properties of solutions of the differential equation

$$(1.1) \quad y''' + p(t)y' + f(t, y) = 0.$$

Throughout we shall assume that $p(t)$ is continuous and does not change sign on $[a, \infty)$, $a \geq 0$ and $f(t, y) \in C[[a, \infty) \times (-\infty, \infty) = S]$ with $a(t)\varphi(y) \geq f(t, y) \geq h(t)\Psi(y)$ for $(t, y) \in S$, where $a(t)$ and $h(t)$ are locally integrable functions and

$$\frac{\varphi(y)}{y}, \frac{\Psi(y)}{y} \geq \alpha > 0.$$

A non-trivial solution of a differential equation is said to be oscillatory if it has zeros for arbitrarily large values of the independent variable. Motivation for the study of oscillation properties of the solutions of (1.1) comes from two directions. The equation

$$y''' + p(t)y' + q(t)y = 0$$

has been studied extensively and some recent papers are those of *Greguš* [3], *Hanan* [4], *Zlámál* [14], *Lazer* [7] and *Švec* [10]. On the other hand the non-linear second order differential equations have been studied by *Atkinson* [1], *Bhatia* [2], *Nehari* [11] and *Waltman* [12] and third order by *Waltman* [13] and *Heidel* [5]. Two cases $a(t), h(t)$ nonnegative and $a(t), h(t)$ nonpositive are discussed in this paper. The techniques used to prove theorems in this paper are not new.

2. The case $a(t)$ and $h(t)$ are nonnegative is considered in this section and two theorems are provided.

Theorem 2.1. *Let $p(t)$ be nonpositive and $a(t), h(t)$ nonnegative. If*

$$\int_a^\infty \left[\alpha a(t) - \frac{2}{3\sqrt{3}} (-p(t))^{3/2} \right] dt = \infty$$

and

$$\int_a^\infty \left[\alpha a(t) - \frac{2}{3\sqrt{3}} (-p(t))^{3/2} \right] dt = \infty$$

then every continuable solution of (1.1), which has a zero is oscillatory.

Proof. Let $y(t)$ be any solution of (1.1) which has a zero and is nonoscillatory. Let its last zero be t_0 and $y(t) > 0$ for $t > t_0$. (Similar proof follows when $y(t) < 0$, for $t > t_0$). Now we assert that $y'(t)$ cannot change signs more than twice in $[t_0, \infty)$. Let us assume that T_1 and T_2 are two consecutive points in $[t_0, \infty)$ where $y'(t)$ changes sign. Multiplying (1.1) by $y'(t)$ and integrating by parts between T_1 and T_2 , we get

$$-\int_{T_1}^{T_2} y''^2(t) dt + \int_{T_1}^{T_2} p(t)y'^2(t) dt + \int_{T_1}^{T_2} f(t, y(t))y'(t) dt = 0$$

or

$$-\int_{T_1}^{T_2} y''^2(t) dt + \int_{T_1}^{T_2} p(t)y'^2(t) dt + \int_{T_1}^{T_2} a(t) \frac{\varphi(y(t))}{y(t)} y'(t)y(t) dt \geq 0 \quad (1)$$

(If $y'(t)$ is negative within (T_1, T_2) , replace $a(t)\varphi(y(t))$ by $h(t)\Psi(y(t))$). Since $p(t) \leq 0$, $a(t) \geq 0$, $\frac{\varphi(y(t))}{y(t)} > 0$, it follows from (1) that $y(t)y'(t)$ is nonnegative in (T_1, T_2) . Thus $y'(t)$ cannot change its sign more than twice within $[t_0, \infty)$ and there exists a number $t_1 \geq t_0$ such that either $y(t)y'(t) \leq 0$ or

$$y(t)y'(t) \geq 0 \quad \text{for } t \geq t_1.$$

Let $y(t)y'(t) \leq 0$. Since $y(t) > 0$ for $t > t_0$ and $y(t_0) = 0$, there exists $t_1 > t_0$ such that $y'(t_1) = 0$, $y'(t) \leq 0$ for $t > t_1$. Multiplying (1.1) by $y'(t)$ and integrating by parts between t_1 and t , we have

$$\begin{aligned} y''(t)y'(t) &= \int_{t_1}^t y''^2(t) dt - \int_{t_1}^t p(t)y'^2(t) dt - \int_{t_1}^t f(t, y(t))y'(t) dt \\ &\geq \int_{t_1}^t y''^2(t) dt - \int_{t_1}^t p(t)y'^2(t) dt - \int_{t_1}^t h(t) \frac{\Psi(y(t))}{y(t)} y(t)y'(t) dt \\ &\geq 0. \end{aligned}$$

Thus $y''(t) \leq 0$ and this contradicts that t_0 is the last zero of $y(t)$ and thus we have $y(t)y'(t) \geq 0$ for $t \geq t_1$.

Let

$$x(t) = \frac{y'(t)}{y(t)} \geq 0 \quad \text{for } t > t_1.$$

$$\begin{aligned} x''(t) - 3x'(t)x(t) &= -x^3(t) - p(t)x(t) - \frac{f(t, y(t))}{y(t)} \\ &\leq -\left[x^3(t) + p(t)x(t) + h(t) \frac{\Psi(y(t))}{y(t)} \right] \\ &< -[x^3(t) + p(t)x(t) + \alpha h(t)]. \end{aligned}$$

The minimum of the function

$$x^3 + p(t)x + \alpha h(t), \quad x > 0$$

is when $x = \frac{-p(t)}{3}$. Thus we have

$$\frac{d}{dt} \left[x'(t) + \frac{3}{2} x^2(t) \right] < - \left[\alpha h(t) - \frac{2}{3\sqrt{3}} (-p(t))^{3/2} \right]. \quad (2)$$

Integrating both the sides of (2) from t_1 to t , we get

$$x'(t) < x'(t_1) + \frac{3}{2} x^2(t_1) - \frac{3}{2} x^2(t) - \int_{t_1}^t \left[\alpha h(t) - \frac{2}{3\sqrt{3}} (-p(t))^{3/2} \right] dt.$$

$\rightarrow -\infty$ as $t \rightarrow \infty$, consequently $x(t)$ would become negative which is contradictory. Hence $y(t)$ is oscillatory solution.

Theorem 2.2. Let $p(t)$, $a(t)$ and $h(t)$ be nonnegative. If $[\alpha a(t) - p'(t)]$ and $[\alpha b(t) - p'(t)]$ are positive and

$$\int_a^\infty t[\alpha a(t) - p'(t)] dt = \infty, \quad \int_a^\infty t[\alpha h(t) - p'(t)] dt = \infty$$

then every continuable solution of (1.1) which has a zero is oscillatory.

Proof. Suppose $y(t)$ is a solution of (1.1) which has a zero but does not oscillate. Let t_0 be its last zero and $y(t) > 0$, for $t > t_0$. (Similar proof follows if $y(t) < 0$, $t > t_0$). Now there are two possibilities. Either $y'(t)$ has a zero after t_0 or $y'(t) > 0$ for $t > t_0$.

In first possibility, let $t_1 > t_0$ be the first zero of $y'(t)$ after t_0 . Multiplying (1.1) by $y(t)$ and integrating from t_0 to t , we get

$$\begin{aligned} y''(t)y(t) + \frac{1}{2}y'^2(t_0) - \frac{1}{2}y'^2(t) + \frac{1}{2}p(t)y^2(t) \\ + \int_{t_0}^t y^2(s) \left[\alpha h(s) - \frac{1}{2}p'(s) \right] ds < 0. \end{aligned} \quad (3)$$

From (3) it follows that at every zero of $y'(t)$, $y(t)y''(t) < 0$ and thus t_1 is the only zero of $y'(t)$ and $y'(t) < 0$ for $t > t_1$. Now $y''(t)$ can not remain negative, otherwise t_0 is not the last zero of $y(t)$. If $y''(t)$ remains positive then $\lim_{t \rightarrow \infty} y'(t)$ exists but from (3), we have

$$\begin{aligned} \frac{1}{2}y'^2(t) > y''(t)y(t) + \frac{1}{2}y'^2(t_0) + \frac{1}{2}p(t)y^2(t) \\ + \int_{t_0}^t y^2(s) \left[\alpha h(s) - \frac{p'(s)}{2} \right] ds. \end{aligned} \quad (4)$$

Here all the terms on the right are positive and the last term is increasing. Since $\lim_{t \rightarrow \infty} y'(t)$ exists and is finite, it follows at once that $y(t)$ has a zero within (t_1, ∞) which is contradictory.

If $y''(t)$ changes its sign for arbitrarily large t , $y'(t)$ has maxima for arbitrarily large t . Since $\lim_{t \rightarrow \infty} y(t)$ exists and is finite and $y'(t) < 0$ $\limsup_{t \rightarrow \infty} y'(t) = 0$ and thus the set of maxima of $y'(t)$ must contain a subsequence $\{t_n\}$ such that $\lim_{n \rightarrow \infty} y'(t_n) = 0$. But putting t_n in (4), we get $\lim_{n \rightarrow \infty} [y''(t_n)] > 0$, which is contradiction. Thus we proved that if $y(t_0) = y'(t_1) = 0$, then t_0 is not the last zero of $y(t)$ which contradicts $y(t) > 0$, $t > t_0$.

In case of second possibility, since $y'(t) > 0$, $t > t_0$, we have $y'''(t) = -p(t)y'(t) - f(t, y) \leq 0$ and thus $y''(t)$ is a decreasing function for $t > t_0$. Suppose there exists $t_1 > t_0$ such that $y''(t) \leq 0$, $t > t_1$. Then there exists $t_2 > t_1$ such that $y''(t) < 0$, $t > t_2$. Hence $y'(t)$ is positive and monotone decreasing and $\lim_{t \rightarrow \infty} y'(t)$ exists and is finite and nonnegative. But

$$y'(t) = y'(t_2) + \int_{t_2}^t y''(s) ds < y'(t_2)(t - t_2).$$

Since $y''(t_2)$ is negative it follows that $y'(t) \rightarrow -\infty$ as $t \rightarrow \infty$, which is contradiction. Thus we have $y''(t)$ is a decreasing function and nonnegative for $t > t_1$. Now integrating (1.1) from t_1 to t , we get

$$y''(t) - y''(t_1) + p(t)y'(t) - p(t_1)y(t_1) + \int_{t_1}^t y(s) \left[\frac{f(s, y(s))}{y(s)} - p'(s) \right] ds = 0$$

or

$$y''(t_1) + p(t_1)y(t_1) > \int_{t_1}^t y(s)[\alpha h(s) - p'(s)] ds.$$

Since $y(t) > y'(t_1)(t - t_1)$, we get

$$y''(t_1) + p(t_1)y(t_1) > y'(t_1) \int_{t_1}^t (s - t_1)[\alpha h(s) - p'(s)] ds.$$

The left hand side is independent of t , but right hand side has t and tends to ∞ as $t \rightarrow \infty$, which is contradictory. Thus $y(t)$ is not nonoscillatory solution.

3. Now we shall deal with the case when $p(t)$, $a(t)$ and $h(t)$ are nonpositive. If we denote

$$F[y(t)] = 2y(t)y''(t) - y'^2(t) + p(t)y^2(t), \quad (5)$$

where $y(t)$ is a solution of (1.1), then

$$F[y(t)] = F[y(a)] + \int_a^t \left[p'(t) - 2 \frac{f(t, y(t))}{y(t)} \right] y^2(t) dt .$$

This can be verified by direct differentiation and we shall use this identity in this section several times. The first two lemmas can be proved in a same way as proved by Lazer [6] for the linear case.

Lemma 3.1. *Let $p(t)$, $a(t)$ and $h(t)$ be nonpositive and $y(t)$ any solution of (1.1). If $y(t_0) \geq 0$, $y'(t_0) \leq 0$ and $y''(t_0) > 0$ ($t_0 \in [a, \infty)$, arbitrary), then*

$$y(t) > 0, y'(t) > 0, y''(t) > 0, y'''(t) \geq 0 \text{ for } t > t_0$$

and $\lim_{t \rightarrow \infty} y(t) = \lim_{t \rightarrow \infty} y'(t) = \infty$. Again if $y(t_0) \leq 0$, $y'(t_0) \leq 0$, and $y''(t_0) < 0$, then $y(t) < 0$, $y'(t) < 0$, $y''(t) < 0$, $y'''(t) \leq 0$ for $t > t_0$ and $\lim_{t \rightarrow \infty} y(t) = \lim_{t \rightarrow \infty} y'(t) = -\infty$.

Lemma 3.2. *Let $p(t)$, $a(t)$ and $h(t)$ be nonpositive. If $y(t)$ be a nonoscillatory solution of (1.1), then there exists a number $C \in [a, \infty)$ such that either $y(t)y'(t) > 0$ or $y(t)y'(t) \leq 0$ for $t > C$.*

Theorem 3.3. *Let $p(t)$, $a(t)$, $h(t)$ be nonpositive and $p(t)$ bounded. If*

$$\int_a^\infty [p'(t) - 2\alpha a(t)] dt = \infty ,$$

$$\int_a^\infty [p'(t) - 2\alpha h(t)] dt = \infty$$

and $y(t)$ is any continuable nonoscillatory solution of (1.1) then either

$$\lim_{t \rightarrow \infty} |y(t)| = \lim_{t \rightarrow \infty} |y'(t)| = \infty$$

or

$$\lim_{t \rightarrow \infty} |y(t)| = \lim_{t \rightarrow \infty} \inf |y'(t)| = \lim_{t \rightarrow \infty} \inf |y''(t)| = 0 .$$

Proof. Let $y(t)$ be a nonoscillatory solution of (1.1) such that $y(t) > 0$ for $t > t_0$. (Similar proof follows for $y(t) < 0$ for $t > t_0$). By lemma 3.2, there exists a number $t_1 \geq t_0$ such that either

$$y(t)y'(t) > 0$$

or

$$y(t)y'(t) \leq 0$$

for $t > t_1$. When $y(t)y'(t) > 0$, we have $y'(t) > 0$ for $t > t_1$ and $y(t)$ is an increasing function and thus we can take $y(t) \geq c$ for $t > t_1$. Now

$$\begin{aligned}
 F[y(t)] &= F[y(t_1)] + \int_{t_1}^t \left[p'(t) - 2 \frac{f(t, y)}{y(t)} \right] y^2(t) dt \\
 &> F[y(t_1)] + c^2 \int_{t_1}^t [p'(t) - 2\alpha a(t)] dt .
 \end{aligned}$$

Since last term is increasing, there exists $t_2 \geq t_1$ such that $F[y(t)] > 0$ which gives from (5) that $y(t)y''(t) > 0$ and thus $y''(t) > 0$ for $t > t_2$. Also

$$y'''(t) = -p(t)y'(t) - f(t, y) \geq -p(t)y'(t) - \alpha a(t)y(t) \geq 0 .$$

Thus we have

$$\lim_{t \rightarrow \infty} |y(t)| = \lim_{t \rightarrow \infty} |y'(t)| = \infty .$$

When $y(t)y'(t) \leq 0$, then $y(t) > 0$, $y'(t) \leq 0$ for $t > t_1$ and $y(t)$ is bounded and $\lim_{t \rightarrow \infty} y(t)$ exists. It can easily be proved by the use of mean value theorem that

$$\liminf_{t \rightarrow \infty} |y'(t)| = \liminf_{t \rightarrow \infty} |y''(t)| = 0$$

We assert that $\lim_{t \rightarrow \infty} |y(t)| = 0$. Suppose this is not true, i. e.

$$\lim_{t \rightarrow \infty} |y(t)| = A \neq 0 .$$

Integrating (1.1) by parts from t_1 to t , we get

$$\begin{aligned}
 y''(t) + p(t)y(t) - y''(t_1) - p(t_1)y(t_1) \\
 &= \int_{t_1}^t \left[p'(t) - \frac{f(t, y)}{y(t)} \right] y(t) dt \\
 &\geq A \int_{t_1}^t [p'(t) - \alpha a(t)] dt .
 \end{aligned}$$

Here right hand side tends to ∞ as $t \rightarrow \infty$ and left hand side is bounded, which shows that $\lim_{t \rightarrow \infty} y(t) = 0$ and proves the theorem.

Lemma 3.4. *Let $p(t)$, $a(t)$ and $h(t)$ be nonpositive. Let $y(t)$ be a solution of (1.1) such that $F[y(t_0)] \geq 0$ and $\left[p'(t) - 2\alpha \left(\frac{a(t)}{h(t)} \right) \right] \geq 0$. If $y(t)$ has a constant sign in certain right hand neighborhood of t_0 , then it retains the same sign for all $t > t_0$.*

Proof. Let us assume that t_1 be the first number greater than t_0 such that $y(t_1) = 0$. Now

$$\begin{aligned}
 F[y(t_1)] &= F[y(t_0)] + \int_{t_0}^{t_1} \left[p'(t) - 2 \frac{f(t, y)}{y(t_0)} \right] y^2(t) dt \\
 &\geq F[y(t_0)] + \int_{t_0}^{t_1} [p'(t) - 2\alpha a(t)] y^2(t) dt \\
 &> 0 .
 \end{aligned}$$

(When $y(t)$ is negative, change $a(t)$ by $h(t)$). But $F[y(t_1)] = -y'^2(t_1)$, which is contradiction and thus the lemma follows.

Theorem 3.5. *Let $p(t)$, $a(t)$ and $h(t)$ be nonpositive. If*

$$\int_a^\infty [p'(t) - 2\alpha a(t)] dt = \infty,$$

$$\int_a^\infty [p'(t) - 2\alpha h(t)] dt = \infty$$

and

$$\int_a^\infty tp(t) dt > -\infty,$$

then every continuable nontrivial solution $y(t)$ of (1.1) is either nonoscillatory such that

$$\lim_{t \rightarrow \infty} |y(t)| = \lim_{t \rightarrow \infty} |y'(t)| = \infty$$

or oscillatory if and only if $F[y(t)] < 0$, for all $t \in [a, \infty)$.

Proof. Let $y(t)$ be a nonoscillatory solution of (1.1) such that $y(t) > 0$ for $t > t_0$ (Similar proof follows for $y(t) < 0$, $t > t_0$). By lemma 3.2, there exists a number $t_1 > t_0$ such that either $y(t)y'(t) \leq 0$ or $y(t)y'(t) > 0$ for $t > t_1$. We assert that $y(t)y'(t) \not\leq 0$ for $t > t_1$. Suppose $y(t)y'(t) \leq 0$ for $t > t_1$. Since

$$\int_a^\infty tp(t) dt > -\infty,$$

there exists $t_2 > t_1$ such that $\int_{t_2}^\infty tp(t) dt \geq -1$. Multiplying (1.1) by t and integrating from t_2 to t , $t_2 < t$, we obtain

$$ty''(t) - t_2y''(t_2) - y'(t) + y'(t_2) + y'(t) \int_{t_2}^t tp(t) dt - \int_{t_2}^t y''(s) \int_{t_2}^s up(u) du ds = - \int_{t_2}^t tf(t, y) dt$$

or

$$ty''(t) - 2y'(t) + y'(t_2) - \int_{t_2}^t y''(s) \int_{t_2}^s up(u) du ds \geq t_2y''(t_2) - \int_{t_2}^t tf(t, y) dt \tag{6}$$

$$\geq t_2y''(t_2) - \alpha \int_{t_2}^t ta(t)y(t) dt \tag{7}$$

Either $y''(t) \geq 0$ for $t \geq t_2$ (change t_2 if necessary) or $y''(t)$ has positive and negative values for arbitrarily large t . In first case

$$-\int_{t_2}^t y''(s) \int_{t_2}^s u p(u) du ds \leq \int_{t_2}^t y''(s) ds = y'(t) - y'(t_2),$$

therefore (7) becomes

$$ty''(t) - y'(t) \geq t_2 y''(t_2) - \alpha \int_{t_2}^t ta(t) y(t) dt \quad (8)$$

Since $\lim_{t \rightarrow \infty} y(t)$ exists and is finite, it follows from mean value theorem that

$$\liminf_{t \rightarrow \infty} y'(t) = \liminf_{t \rightarrow \infty} ty''(t) = 0.$$

But this contradicts the fact that right hand side of (8) is positive and increasing. Thus our assertion follows for the case $y''(t) \geq 0$.

When $y''(t)$ has positive and negative values for arbitrarily large t , then there exists a sequence of points $\{t_n\}$, $n \geq 3$, $\lim_{n \rightarrow \infty} t_n = \infty$ with the following properties

- (i) $t_i < t_{i+1}$, $i = 3, 4, 5, \dots$
- (ii) $y''(t_i) = 0$, $i = 3, 4, 5, \dots$
- (iii) $\lim_{i \rightarrow \infty} y'(t_i) = 0$.

The existence of such a sequence $\{t_i\}$ is clear since $y'(t) \leq 0$ and $\limsup_{t \rightarrow \infty} y'(t) = 0$.

Let

$$A = \int_{t_3}^{\infty} u p(u) du, \quad A > -1, \quad t_3 > t_2.$$

Thus

$$\begin{aligned} & -\int_{t_3}^t y''(s) \int_{t_3}^s u p(u) du ds \\ &= \int_{t_3}^t y''(s) \left[\int_s^{\infty} u p(u) du - A \right] ds \\ &= \int_{t_3}^t y''(s) \int_s^{\infty} u p(u) du ds - A \int_{t_3}^t y''(s) ds \\ &\leq \int_{t_3}^t y''(s) \int_s^{\infty} u p(u) du ds - y'(t_3). \end{aligned}$$

Putting this in (6) (replacing t_2 by t_3) gives

$$ty''(t) - 2y'(t) + \int_{t_3}^t y''(s) \int_s^\infty up(u) du ds \geq - \int_{t_3}^t t f(t, y) dt \quad (9)$$

Let $Q(s) = \int_s^\infty up(u) du$, then

$$\begin{aligned} \int_{t_3}^t y''(s) Q(s) ds &= y''(t) \int_{t_3}^t Q(s) ds - \int_{t_3}^t y'''(s) \int_{t_3}^s Q(u) du ds \\ &= y''(t) \int_{t_3}^t Q(s) ds + \int_{t_3}^t p(s) y'(s) \int_{t_3}^s Q(u) du ds \\ &\quad + \int_{t_3}^t f(sy(s)) \int_{t_3}^s Q(u) du ds \\ &\leq y''(t) \int_{t_3}^t Q(s) ds + \int_{t_3}^t f(s, y(s)) \int_{t_3}^s Q(u) du ds \end{aligned}$$

or

$$\int_{t_3}^t y''(s) Q(s) ds \leq y''(t) \int_{t_3}^t Q(s) ds - \int_{t_3}^t (s-t_3) f(s, y(s)) ds$$

Substituting this into (9), we get

$$\begin{aligned} ty''(t) - 2y'(t) + y''(t) \int_{t_3}^t Q(s) ds - \int_{t_3}^t (s-t_3) f(s, y(s)) ds \\ \geq - \int_{t_3}^t s f(s, y(s)) ds \end{aligned}$$

or

$$ty''(t) - 2y'(t) + y''(t) \int_{t_3}^t Q(s) ds \geq - \int_{t_3}^t t_3 f(s, y(s)) ds$$

Replacing t by t_i in (10) (where $\{t_i\}$ is the sequence defined before), we get

$$-2y'(t_i) \geq -\alpha t_3 \int_{t_3}^{t_i} a(t) y(t) dt \quad (11)$$

The right hand side of (11) is positive and increasing in t_i , while the left hand side converges to zero as $i \rightarrow \infty$. This contradiction proves our assertion and thus we have only $y(t)y'(t) > 0$ and now it can be proved in a similar way as of theorem 3.3 that

$$\lim_{t \rightarrow \infty} |y(t)| = \lim_{t \rightarrow \infty} |y'(t)| = \infty$$

Now remains to prove that a solution $y(t)$ of (1.1) is oscillatory if and only if $F[y(t)] < 0$. Suppose the above condition holds but $y(t)$ is nonoscillatory. Then $|y(t)| \rightarrow \infty$ as $t \rightarrow \infty$ and from a certain t_0 , $|y(t)| \geq 1$. Therefore,

$$\begin{aligned} \int_{t_0}^t \left[p'(t) - \frac{2f(t, y)}{y(t)} \right] y^2(t) dt &\geq \int_{t_0}^t \left[p'(t) - 2a(t) \frac{\varphi(y)}{y} \right] dt \\ &\geq \int_{t_0}^t [p'(t) - 2\alpha a(t)] dt \\ &\rightarrow \infty \text{ as } t \rightarrow \infty. \end{aligned} \tag{12}$$

But we have

$$\int_{t_0}^t \left[p'(t) - \frac{2f(t, y)}{y(t)} \right] y^2(t) dt = F[y(t)] - F[y(t_0)] < -F[y(t_0)]$$

which is contradiction with (12).

Now let $F[y(t_0)] \geq 0$, then $y(t) > 0$ or $y(t) < 0$ holds in certain right hand neighborhood and thus by lemma (3.3), $y(t)$ is not oscillatory.

REFERENCES

- [1] F. V. Atkinson. *On second order nonlinear oscillations*. Pacific J. Math. 5 (1955), 643-647.
- [2] Nam Bhatia. *Some oscillation theorems for second order differential equations*. Journal of Math. Anal. and Applications 15, (3) (1966).
- [3] M. Greguš. *Über die lineare homogene differentialgleichung dritter ordnung*. Wissenschaftliche Zeitschrift der Martin-Luther Universität Halle-Wittenberg Math. Nat. XII/3 March 1963. 265-286.
- [4] M. Hanan. *Oscillation criteria for third-order linear differential equation*, Pacific J. Math. (3) 11 (1961), 919-944.
- [5] John Heidel. *Qualitative behavior of solutions of a third order nonlinear differential equation*. Pacific (to appear).
- [6] S. Hille. *Non-oscillation theorems*. Trans Amer. Math. Soc. 64 (1948), 234-252.
- [7] A. Lazer. *The behavior of solutions of the differential equation $y''' + p(x)y' + q(x)y = 0$* . Pacific J. Math. (3) 17, (1966), 435-466.
- [8] M. Švec. *Sur une propriété des intégrales de l'équation $y^{(n)} + Q(x)y = 0$, $n=3, 4$* , Czechoslovak Math. J. (82) 7, (1957) 450-462.
- [9] ———. *Asymptotische Darstellung der Lösungen der Differential Gleichung $y^{(n)} + Q(x)y = 0$, $n=3, 4$* . Czechoslovak Math. J. (87) 12, (1962), 572-581.
- [10] ———, *Einige asymptotische und oszillatorische Eigenschaften der Differentialgleichungen $y''' + A(x)y' + B(x)y = 0$* . Czechoslovak Math. J. (90) 15, (1965), 378-393.
- [11] Z. Nehari. *Oscillation criteria for second order linear differential equation*, Trans. Amer. Math. Soc. (85) 2, (1957), 428-445.
- [12] P. Waltman. *An oscillation criterion for a nonlinear second order equation*. J. Math. Anal. and Applications, 10, (1965), 439-441.
- [13] ———. *Oscillation criteria for third order nonlinear differential equations*, Pacific J. Math. (18) 2, (1966), 385-389.
- [14] M. Zlámal. *Asymptotic properties of the solutions of the third order differential equations*, Publ. Fac. Sci. Univ. Masaryk (1951), 159-167.

Saint Mary's University
Halifax (N. S.) Canada